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1. Introduction
This contribution provides our proposals for co-existence simulation assumptions and some preliminary simulation results are also provided.
2. Discussion
2.1 Simulation assumptions
[bookmark: _GoBack]There was some co-existence simulation assumption discussion in last RAN4 meeting and the WF[5] was not approved due to some different understandings. According to the last meeting’s discussion, 100 MHz CBW is assumed to be the worst case. For the BS output power, we assume the BS antenna array, output power should be aligned with the assumption in TR 38.808. For the UE output power, we reused the assumption in [5]. So we have the following simulation assumption proposals for the indoor and outdoor.
Table 1: Indoor co-existence simulation assumption
	Deployment
	
	Indoor Office A and Office C as specified in [1]

	System Parameters
	Carrier Frequency
	60 GHz, 70 GHz

	
	Channel BW
	100 and 2000 MHz 

	
	Number of active UEs
	1

	
	Channel model
	InH open office specified in [2]

	
	LBT
	No LBT

	
	SCS
	100 MHz 120kHz SCS
2000 MHz 960kHz SCS (166 RB)

	BS
	(Mg, Ng, M, N, P)
	(1,1,4,8,2)

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain
	5 dBi

	
	Antenna element radiation pattern
	Table A.2.1-7 in [3] for ceiling mount

	
	Max Tx Power
	52.8 dBm EIRP (or max TX conducted power 32.8dBm) 

	
	Noise Figure 
	13 dB

	UE
	(Mg, Ng, M, N, P) 
	(1,2,2,8,2)

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain
	5 dBi

	
	Antenna element radiation pattern
	Table A.2.1-8 in [3]

	
	Max Tx Power
	20 dBm EIRP(or max TX conducted power 3dBm)

	
	Noise figure
	13 dB

	
	LoS/ NLoS
	LoS probability for indoor office defined in [4]



Table 2: Outdoor co-existence simulation assumption
	Deployment
	
	Dense urban scenario outdoor A as specified in [1], coordinated and uncoordinated

	System Parameters
	Carrier Frequency
	60 GHz or 70 GHz

	
	Channel BW
	100 and 2000 MHz

	
	Number of active UEs
	1

	
	Channel model
	Umi model as specified in [2]

	
	LBT
	No LBT

	
	SCS
	100 MHz 120kHz SCS
2000 MHz 960kHz SCS (166 RB)

	BS
	(Mg, Ng, M, N, P) 
	(1,1,16,16,2)

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain 
	5 dBi

	
	Antenna element radiation pattern
	Table 7.3-1 of [2]

	
	Max Tx Power
	61.8 dBm EIRP

	
	Noise Figure
	13 dB

	UE
	(Mg, Ng, M, N, P) 
	(1,2,2,8,2)

	
	(dv, dh)
	(0.5 λ, 0.5 λ)

	
	Antenna element gain
	5 dBi

	
	Antenna element radiation pattern
	Table A.2.1-8 in [3]

	
	Max Tx Power
	20 dBm EIRP(or max TX conducted power 3dBm)

	
	Noise figure
	13 dB

	
	LoS/ NLoS
	LoS probability for indoor office defined in [4]



2.2 Preliminary simulation results for outdoor scenario
According to the simulation assumption in 2.1, we have some preliminary simulation results for outdoor scenario.
In order to calibrate the simulation platform, we first used the same simulation parameters as [8]. Figure 1 and Figure 2 are our simulation results to compare with [8].
[image: outdoor sinr][image: ]
Figure 1: DL SINR CDF for 60 GHz using the simulation assumption in [8](left: our result, right: from[8])[image: outdoor loss][image: ]
Figure 2: Average DL throughput loss for 60 GHz using the simulation assumption in [8](left: our result, right: from [8])
The CDF curve in Figure 1 is closely aligned, but there’s  ~5 dB difference for the ACIR requirement in the two simulations. Our ACIR result is ~12 dB for the 5% TP loss.
Figure 3 to Figure 6 are our simulation results using the simulation assumption in Table 2.
[image: ]
Figure 3: 60 GHz SINR CDF using the simulation assumption in Table 2.
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Figure 4: 70 GHz SINR CDF using the simulation assumption in Table 2. 
[image: ]
    Figure 5: DL throughput loss for 60 GHz using the simulation assumption in Table 2
[image: ]
    Figure 6: DL throughput loss for 70 GHz using the simulation assumption in Table 2
From the simulation results, we observed ~6 dB ACIR requirement for 60 GHz and ~4 dB ACIR requirement for 70 GHz. It’s very different with the observation in [8]. The reason for the difference may come from the different BS power assumption. We propose to align simulation assumptions to further simulate and discuss the ACIR requirement.
Proposal: Discuss and agree the simulation assumption for the ACIR requirement.
3. Conclusion
We provide indoor and outdoor simulation results based on the assumption in Table 1 and Table 2. In order to align the simulation assumption, we propose,
Proposal: Discuss and agree the simulation assumption for the ACIR requirement.
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